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QUESTION 1

Multiple roles are applied to a user on the Cisco MDS 9000 Series Switch. Which statement is true?

A. Any commands that have conflicting settings between roles are denied.

B. Access to a command takes priority over being denied access to a command.

C. The first role assigned takes precedence over subsequent roles.

D. The last role assigned takes precedence over previous roles.

Correct Answer: B
https://www.cisco.com/c/en/us/td/docs/switches/datacenter/mds9000/sw/5_0/configuration/guides/sec/nxos/sec/clicfgur.

html https://www.cisco.com/c/en/us/td/docs/switches/datacenter/mds9000/sw/8_x/config/security/cisco_mds9000_securi
ty_config_guide_8x/configuring_users_and_common_roles.html

QUESTION 2

DRAG DROP

Refer to the exhibit.
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Drag and drop each traffic flow type from the left onto the corresponding number on the right Not all traffic flow types are
used

Select and Place:

Latest 350-601 Dumps | 350-601 PDF Dumps | 350-601 Study Guide 3/8


https://www.geekcert.com/350-601.html
https://www.geekcert.com/350-601.html
https://www.geekcert.com/350-601.html

VCE & PDF https://lwww.geekcert.com/350-601.html
2024 Latest geekcert 350-601 PDF and VCE dumps Download

GeekCert.com

Inter-Data Center 1
East-West 2
MNorth-VWest 3
Marth-South q
Sauth-West 3
Storage Traffic
Storage Replication

Correct Answer:

MNorth-South

East-West

North-West Storage Traffic

Storage Replication

South-West Inter-Data Center

QUESTION 3
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A customer data center is configured for distribution of user roles, call home, and NTP. The data center was split into
two geographically separate locations called DC1 and DC2. The requirement is for the user role configurations to be
distributed in DC1 and for NTP and call home features to be constrained to DC2.

Which two configuration sets must be used to meet these requirements? (Choose two.)

A.

| On Data Center 1
configure terminal
cfs 1

roles

aaa

| On Data Center 1
configure terminal
cfs region 1

ntp

callhome

I On Data Center 1
configure terminal
cfs 1

ntp

callhome

0.

| On Data Center 2
configure terminal
cfs region 2

roles

I On Data Center 2
configure terminal
cfs 2

roles

aaa

A. Option A
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B. Option B
C. Option C
D. Option D
E. Option E

Correct Answer: BD

QUESTION 4

An engineer must implement the FCoE on the Cisco Nexus 9000 Series Switch-based infrastructure. The deployment
will contain dual-homed fabric extenders and must support jumbo frames with port channels. Which two sets of actions
complete the configuration? (Choose two.)

A. Create a virtual Fibre Channel Interface. Bind vFC to physical interface.

B. Configure the interface with mtu 9516. Disable the feature NPIV.

C. Create a dedicated VSAN for FEX. Bind VSAN to FEX uplinks.

D. Execute fcoe enable-fex. Configure FEX uplinks with mtu 9216.

E. Create a FCoE switch profile. Enable config sync.

Correct Answer: AD

QUESTION 5

Refer to the exhibit.
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Python Code:

import requests
import json

url='http://1lab-93180bdlf-swl/ins"'

switchuser="dazfre'
switchpassword—"'Clscorox0'

myheaders={'content-type' 'application/json')
payload={
fins api®: |
"yersion™: "1.0",
"type": "cli_show",
“Chunk" : ll‘:‘-j'll“r
l'lsid“: I'Ilﬂ'
"input": "configure terminal : feature hsrp",
"output format": "jsoa"
}
}

response = requests post(url,data=json.dumps(payload),
headers= myheaders, auth=(switchuser, switchpassword))

print (response.text)

ERROR MESSAGE
{
"ins api" [
"type": "cli_ show"
"version": Lok B R
“sidtl "E‘DC".
"outputs", [
"output" [{
"clierror™ "% invalid command\n",
"input" "configure terminsl"
"msg" "input CLI command error",
"code" "400"
| P8 |
Nelierror™ "% invalid command\n"™,
"inpuat® "feature hsrp",
"msg" "input CLI command error",
"code" "400"

H
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Why does the python code for Cisco NX-API print error message?

A. The "type" is wrong in the header of the request and should be "cli_ conf".
B. NX-API does not allow configuration for features via the requests module.
C. The "type" is wrong is the body of the request and should be "cli_ conf".
D. The JSON is not a supported format for the NX-API.

Correct Answer: C
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